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Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.

11-
12-
13-
14-
15-

Then mark your choice on your answer sheet.

She ———=neu-- several famous experts to back up her argument: we can learn a foreign language
well even in old age.

1) attributed 2) derived 3) invoked 4) deviated

Even though she knew she was wrong, she was ---------- to openly admit it.

1) variable 2) reluctant 3) disobedient 4) submissive

Sleep has often been thought of as being in some way -=--e---- to death.

1) alike 2) compatible 3) analogous 4) comparative

Some instifutions still have a strong --—------—-—- against women and employ them if they are
forced to.

1) bias 2) restraint | 3) morality 4) inclination

Historians are obviously not happy with the present strict rules on the ----—---- of official
information on the Cold War.

1) relief 2) reign 3) release 4) restraint

The skilled use of make-up in films is essential to -—-—-—-- the actors' best features and makes
them more attractive.

1) occur 2) attain 3) encounter 4) enhance

I've made quite a lot of last-minute ------—-- - to the article: I think it's now ready for
publication in the newspaper.

1) assembly 2) complement 3) constitution 4) amendment

It's no use =--------- John; I don't think he'll have the time to help us.

1) to ask 2) asking 3) she asks 4) for asking

e - I sympathize with your point of view 1 cannot accept it.

1) While 2) Despite 3) However 4) Nevertheless

The people ----—--—- were excellent at reading maps.

1) I was traveling with 2) whom I was traveling

3) I was traveling with them 4) that I was traveling with them

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

Although the organs require a blood supply, ---------- (11) depend more critically than others on a
continuous flow, Muscles, especially if they are not being used, (12) ---------- unscathed even when
deprived (13) ---------- their blood supply for many minutes. But (14) ---------- blood flow to the
brain, and it begins to malfunction within seconds, (13) ---------- loss of consciousness.

1) they 2) some 3) none 4) they may +

1) remain 2) they remain 3) they will remain 4) and will remain

1) by 2) of 3) with 4) fmm

1) interruption 2) interrupting 3) it interrupts 4) interrupt

1) causes 2) it causes 3) causing 4) that causing
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Part C. Reading Comprehension

Directions: Read the following passages and choose the best choice (1), (2), (3), or (4). Then
mark it on your answer sheet.

Consequently, the question which arises is: What sort of tension difference causes a fiber
to move from one layer to another? There are many possible answers to this question. In
an irregular yarn, a fiber may be fairly easily pushed out from one layer into a hole in the
next layer. In a more tightly packed yarn, this will be more difficult. The magnitude of
the tensions and the geometric configurations of the displaced fiber, the displacing fiber,
and the neighboring fibers will all play a part in determining what happens.

There is one simple postulate which merits more detailed study. This is the postulate that
fibers will only move outwards from a given layer when they become slack. The situation
is illustrated in following figure. As long as the fiber remains taut under some tension, as
in figure (a), it will hold its position, but when it becomes slack and buckles as in figure
(b), then it can be forced out. This is a reasonable proposition. In order to push a fiber out
from a central position it is necessary:

1. To overcome its own tension, which is tending to hold it in the central position and
prevent it moving to a less favorable position.

2. To overcome the pressure from the neighboring fibers which tend to hold it in position.

However, once the fiber has become slack, the first obstacle is removed and furthermore,
the buckling and drooping of the fiber tends to open up the structure and thus allow the
fiber to be displaced more easily. The buckled fibre'may even be nipped by the fibres in
the next layer, and virtually pulled out of its central position.

The operation of this mechanism has been studied theoretically and experimentally in the
particularly simple example of a seven-component structure. The theory for more
elaborate yarns, with many layers of fibers, remains to be worked out in detail,

\ 1‘ / \ Slack f

A

(a) (&)

16- The question stated in the first paragraph relates to:
1) fiber migration 2) an irregular yarn |
3) tightly packed yarn 4) the fibers under shear stresses
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The fiber can be forced ou
1) buckles

2) holds its position

t when if:

3) remain taut under some tension
4) overcomes the tension from the neighboring fibers

What is the main requisite
1) removing of the drooping

3) buckling and opening up the structure

for a fibre to displace easily?

2) overcoming the axial compression

What title do you think is the best for the passage?
1) theory of fibre configuration

3) obstacles of fibre tensions

Postulate in the second paragraph means:

1) proposal 2)0

bservation 3) detailed study

4) overcoming to the neighboring fibres tension

2) magnitude of tensions

4) tension variation as a mechanism of migration

4) as basis for reasoning

Fibers with four different shapes (round, scalloped
oval, eruciform and hexachannel) were evaluated in this
study, In addition we studied two sets of fiber fineness.
The results indicate that increasing moment of iner-
tia, as governed by the shape of fiber cross-section,
leads to a corresponding increase in the fabric friction-
roughness criterion coupled with decrease in the real
contact area. Furthermore, the contribution of the fiber
moment of inertia to the yarn bending rigidity and the
knitted loop structure is explained.

With increasing fiber fineness one would expect the
moment of inertia to decrease resulting in a smoother
fabric. However, we did not observe this trend. Yams
made from coarse fibers result in higher level of hairi-
ness, thus reducing the contribution of fiber mass per
unit length. This resulted in higher fabric roughness-
friction criterion and an increase in real contact area
for fine fibers.

In order to have the softest fabrics based on the shape
of the fiber, it is necessary to have the lowest moment

of inertia. This may be achieved by decreasing fiber
mass per unit length or by designing a desired shape
of fiber cross section. The moment of inertia of the
fiber should be low in one direction relative to the axis.
Consequently, it is high in the transverse direction as
is, for example, the case for a ribbon or in the limit a
*“line” shape fiber. For this shape, the “non-roundness™
factor x becomes very large, approaching infinity. This
shape poses a problem during arrangement of fibers
in the yarn cross section. All fibers must bend in the
direction of their minimum moment of inertia. This
is not possible with a ribbon or a “line” shape. One
way o overcome this for a twisted “line” shape fiber
is to have incremental twists small enough to allow
each fiber to bend in the direction of its minimum mo-
ment of inertia in the yarn structure, Such a fiber would
give the smoothest knitted fabrics for a given stitch
length.

Evaluated in the first sentence means -------- =

1) resulted
According to this study:

2) assessed

3) examined

1) contact area is governed by the fabric friction '
2) moment of inertia is affected by the shape of fibre cross-section.
3) higher level of hairiness of yarn is resulted from thin fibres

4) different shapes of fibres
In the softest fabries:

1) contact area has to be inc
2) the shape of the fibre has
3) higher moment of inertia

are as a function of fabric structure

reased
the dominant effect
of the fibre is necessary

4) scalloped

4) moment of inertia does not depend on the directions relative to the fibre axis
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Which fibre shape would give the smoothest knitted fabrics?
1) hexachannel 2) round shape 3) ribbon shape 4) scalloped oval shape

Textiles, in general, are twisted structures, and their scientific study i1s concerned very largely
with the peculiar characteristics, both geometrical and mechanical, associated with this basic
structural pattern. The elucid-ation of these characteristics raises problems that have occupied a
number of my colleagues and myself for several years, formerly at the British Rayon Research
Association, and more recently at the Cotton Silk and Man-made Fibres Research Association. The
particular structures in which we have been interested are yarns and cords, and it is with the
fundamental problems associated with yarns and cords that this lecture is concerned. I shall try to
explain these problems in a way that brings out the essential physical concepts involved, without
leaning too heavily on the more rigorous mathematical analysis that would be necessary for a
completedly logical exposition.

We may first ask the fundamental question of why it is necessary to introduce twist at all into
structures such as yarns and cords. In the case of the orginial natural fibres, the reason is, of course,
obvious. Twist is essential to provide a certain minimum coherence between fibres, without which a
yarn having a significant tensile strength cannot be made. This coherence is dependent on the
frictional forces brought into play by the lateral pressures between fibres arising from the
application of a tensile stress along the yarn axis. With the introduction of continuous-filament
yarns, however the, role of twist must be reconsidered. In continuous-filament yearns, twist is not
necessary for the attainment of tensile strength (in fact, it reduces it), but is necessary for the
achievement of satisfactory resistance to abrasion, fatigue, or other types of damage associated with
stresses other than abrasion, fatigue, or other types of damage associated with stresses other than a
simple tensile stress, and typified by the breakage of individual filaments, leading ultimately to total
breakdown of the structure. High twist produces a 'hard' yarn, which is highly resistant to damage of

this kind. The role of twist in continuous-filament yarn is thus to produce a coherent structure that
cannot readily be disintegrated by lateral stresses.

What was the fundamental question asked in this lecture?

1) Where the yarn 1s twisted?

2) What is used for twisting the yarn?

3) Why the yarn is produced from fibers?

4) Why it is necessary to introduce twist into yarn?

Why the filament yarns are twisted?

1) In continuous filament yarn twist is necessary to increase the yarn diameter

2) In continuous filament yarn twist is necessary for achicvement satisfactory tensile strength.

3) In continuous filament yarn twist is necessary for achievement satisfactory resistance to abrasion
4) In continuous filament yarn twist is necessary for achievement satisfactory resistance to bending
and torsion.

What type of structure they were interested in for several years?

1) They were interested in yarns and cords.

2) They were interested in all type of fabrics

3) They were interested in non-woven.

4) They were interested in textile composites

According to the Trealoar's lecture which one of the following statements is correct?

1) Fabrics are not a textile material 2) Textiles are fabric but not the yarns

3) Textiles, in general, are twisted structures 4) All the textile materials can deform easily
What is the meaning of the word "rigorous" used in this article?

1) simple 2) precise 3) positive 4) penetration
According to the Trealoar's lecture which one of the following statements is correct?

1) The high twist yarns are soft yarns 2) All the filament yarns are hard yarns

3) All the filament yarns are high-bulk yarns 4) Hard yarn is highly resistance to the damage
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